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L Dispute between 111y 11 217 regarding strength of np’r vis-a-vis status of ...na RMp 7R PRY NN 51
a. Setup: B1 and B2 married to S1 and S2
b. Case#1: B1 dies, then B2 dies, then S2 dies:
i.Ruling: all agree that B3 may marry S1, since she was originally 'mn when she fell, was temporarily
forbidden and then re-permitted
c. Case #2: B1 dies, then B2 dies, then S1 dies:
i.27 B3 may marry S2
1. reason: ruling mn5y NMOR "NYOR R NND” 1591 NYWA N2 RNP IR PRY NN 9
cannot be defined by npt
ii. 2777 71 B3 may not marry S2
1. reason: NP NMNOR “MHR R NND” 1Y) NYVWA N2 RNP IR PRY 1N 9
d. Challenge to panv "
i. our mwn (4 brothers, 2 married to 2 sisters etc...) may not perform ma»
1. challenge: why not have B perform n¥»n on S2, then S1 reverts to her original 1nn
2. answer: 3N 1 could not explain who authored the mwn
a.  Challenges: why not depict ruling in readable manner
b. Answer: wording indicates Tay713, both need n¥*Yn only
c. cannot be authored by 8™ (who forbids any nna’ who ever was nmoR) since he
is the author of the ra'v;
d. cannot be case where sisters fell simultaneously (since the Xin doesn’t assume
»"7’s position on simultaneity)
e. cannot be a case of doubt as to who fell first, since then 2nd brother could claim
his is the correct wife to na»n
3. note: must explain end of mwn (if 1 sister was nMoR to 1 brother as an M1y, he may
perform m21» on the other, but his brother may not) that the non-nv fell first
1L continued explanation of X mwn
a. R™ states that n”a insisted ¥y, but w”a maintained 17y
b. w™:all agree yn»p
c.  9IRW RaR: positions opposite that of X"’s presentation
II1. explanations of added clauses in mwn — each with a kmanx:
a. incaselisanmyto1:
i. in our case, there are 2 sisters, perhaps it makes 1Mmpipr mnR Mo>’R more or less obvious
b. in case 1is mxn Moox:
i. in our case, perhaps we should allow D12» to “trump” mxn MR since there is a
disconnect from sister
c. in case of the “cross-over” (when S1 is n11ya nmoR to B3 and S2 is n1ya noRr to B4):
i. when there are 2, room to 71 and enforce n¥'9n only so as not to lead to MPPr MNK
ii. when there is only 1, room to be 71, since there is no “opposite number” to prove the preference
Iv. 8n»32 of 87N "7 —all 15 in our Mwn have applicability to Nt mImn n1% AMOR (the cross-over)
a. M 27— only last 9 (ina etc. can only happen po1Rra)
b. »ar—all (except 1n%ya i ROW PNR NWR) —
c. X190 "1 - all - according to w™, 2”nYwRR could work
i. NI presents scenario where n7¢ n1¥ could work
V. "7 mwn
a. if 2 co-mn2a’ are Ny in combination — p"n: NXON, V"1 — MMV (as per v. 1)
b. If 1is770R as MWITP MR IR NN NOR — NN
i. Here, ™ agrees that we enforce n¥9n, precaution against mxn 7oK in a non-M1y case
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